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JiEfz No K% FRiE i fmE
1 137 A =X BRlNFER(55) 57.370
2 33 ek = BIBINERR (35F) 57.500
3 35 5SH ¥E LR INER(55F) 57.950
4 34 MM e HBJRE — R — MO EF] (44E) 58.980
5 133 fUEB 2K EHEBINER(45F) 59.260
6 37 F9H URE #BJIZE—R2r— MM EF(5€E)  1.00.320
7 134 B BX BEE2E-R27-MMEFI(6E)  1.00.570
8 135 5EK FEKED #BIZE—-R2r—MMERI(64E)  1.00.940
9 38 mEd BXR #BJIZE—R2r— MM EF(5€E)  1.02.510
10 36 SH Tk ALARINVER(3EE) 1.03.650
11 131 B[] £ Vortex(54) 1.04.600
12 31 /\E¥ BETE Vortex(64F) 1.14.500
13 136 Kl mEE T EBINERR(2£F) 1.15.140
14 40 HEAEZB BIFH AT — MR (24F) 1.19.860
15 138 mHE HE #BIIZE—R2r— MM ER(2€E)  1.24.010
16 32 Il #5% Vortex(54) 1.26.090
17 39 MM &<5 #BIIZE—R2r—MMERI(2€E)  1.26.130
18 132 FBf ZF— Vortex(24F) 1.39.650




